HSC 2001 - Software Design and Development

Question 11

11  The table gives a classification of postal articles by weight.

Article weight Type of article

(&
Up to 749 letter
750-999 small parcel

1000 and above | large parcel

The following algorithm is designed to determine whether an article is a letter, small
parcel or large parcel. Within the algorithm, there is a logical error.

BEGIN article_sort
READ article_weight
IF (article_weight <750) THEN
display ‘The article is a letter’
ELSE
IF (article_weight >=750) OR (article_weight <1000)
display ‘The article is a small parcel’
ELSE
display ‘The article is a large parcel
ENDIF
ENDIF
END

Which test data item will identify this logical error?

(A) 50
(B) 500
(C) 750

(D) 1000
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Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 2.7 29 1 3.1 0
B 4.1 6.6 3.5 1 0
Cc 32.9 33.6 28.1 19.8 0
D 58.9 56.9 66.8 76 100
N 1.4 0 0.5 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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